A2 BREEY—-EX (ME) P—EXTI—RRER ({EFitE%H) ER%30%108
H—EXJ-N . . — et [
g o — B RASEEHR BEEE S| BER
A2 |1111|maEmEY—E X 1 o BRIRY— ERNRE - BXEL - 2 1,168
EXE E) | (BLEREE)
A2 |1113|s5mIBumE Y —EX T - 9)fE (1) NEHWBEETHERRAET LY — CIREEEEERELTLSEE X 70% 818
1AIco=
A2 [1114|REMBEY—EX T - BE— 1,168 EBERCERNOAAERGINLSD| 1,051
E— R ORIRE20 ALLE(CH— B X%
- N NERERDEETEREEET LET—EX |
A2 |1115|smBmE s —EX 1 - 9)E - B— 75188 x90% 736
" TE - B RUSEEEREL TS x 70% 7288 xo0%
A2 |2111|pR9mBEY — EX 1 BE) FRURE - BXEL - 2 38
GA1EZE)
A2 |2113|pmRE Y — EX 1 BE - JHE NEHWBEETHERRAET LY — CIRHEEEERELTLSEE X 70% 27
1BIco=
A2 [2114|3REEEY—EX 1 BE - B— 38T BEFERA—RNOFIRER ETNLSHD 34
E—RORIRE20 ALLE (CH— B X%
- N NERRDEETEREEET LET—EX |
A2 |2115|smmmE S —E X 1 B2 - H)fE - B— #5188 x90% 24
" TE - B BUSEEERELTOSEA X 70% 7288 xo0%
A2 1211 |3mIAmEY—E 2T O SMES— \BRURE . BiE1 - 2 2,335
EXE E) | (GE2EREE)
A2 |1213|s5mBmE Y —EX T - 9)E (1) NEHWBEETHERRAET LY — EIREEEEERBLTLSEE X 70% 1,635
1AIco=
A2 [1214|MEMEY—EXT - BE— 2,335847 EERCRARNOARELINGD| 2,102
E—RORIRE20 ALLE(CH— B X%
- N NERRDEETEREEET LET—EX |
A2 |1215|smBmE S — EX T - 9)E - B— 75188 x90% 1,472
" TE - B BUSEEEREL TS x 70% 7288 x90%
A2 [2211|p9BumE Y — 2 T B2 FRURE - BXRL - 2 77
GE2EFZE)
A2 |2213|mRuRE Y — EX T BE - JHE NEHWEEETHERRAET LY — CIREEEEERBLTLSEE X 70% 54
1BIco=
A2 |2214|3pREMEY - EXTIRE - B— 77841 BEFERA—RNOFIRER ETNLSHD 69
E—RORIRE20 ALLE(CH— B X%
- N NERERDEETEREEET LET—EX |
A2 |2215|smBmE S — E X T BE - H)fE - B— F518E  x90% 49
" TE- B BUSEEERELTOSEA X 70% 7288 x90%
A2 1321 |smaumE Y —E 21 I\ BREY— | BESIRE - B3R 2 3,704
EXE (2E) | (B2E%Bx 3
A2 |1323|smIBumE Y — E X - #)E (m NEHWBEETHERRAET LY — EIRHEEEERELTLSEE X 70% 2,593
1AIco=
A2 |1324|35RIBMEY— BRI - @— 3,7048{i] BT EE—RYORBERENUSND 3,334
E— R ORIRE20 ALLE(CH— B X%
- N NERERDEETEREEET LET—EX |
A2 |1325|smBumE 5 — E X - H)E - F— #5188 x90% 2,334
" TE - B BUSEEEREL TS x 70% 7288 xo0%
A2 |2321|pR9mumE Y — E 2 I B FRUKE - BXIR2 122
(E2E% B2 B12E)
A2 |2323|pRRuRE Y — X MBS - JHE NEWBEETHERRAET LY — CIREEEEERELTLSEE X 70% 85
1BIco=
A2 (2324 |35RIBMEY—EX TR - @— 1228347 R CA—RYOFIRER(FTNLSID 110
E—RORIRE20 ALLE(CH—E X%
- R NERERDEETEREEET LET—EX |
A2 |2325|spmamumE S — X MBS - fE - B— #5188 x90% 77
" THE - B RUEEEEREL TS x 70% 7288 x90%

8000

HEEHT DB (L. B CTIHMERUEREA.

FRBME Y — E XSRS

8001

8100

SREYE R Y — B SR E B E

SERIBSRE Y — ERVRIES NS

8101

8110

SRBME Y — IR EEFINERE

SRIBME Y — E X LRSS R AN E

8111

SRR Y — EXFPLithigE ME R E

FERHI N ES

L RIS (L3851 &/ URSEEFTINE

RILRtIESE (CEE I 2 EADY — EXREINE

FREBEAIERD 15% ME

1RICDE

FREBEAIERD 15% HIE

FREBEAIERD 10% HIE

1H(CDE

1R(CD&E

FREBEAIERD 10% NI

FEBAIERD 5% NIE

1RICDE

1RICDE

FREBAIED 5% ME

A2 4001 |F5RIBUREY — EXYIENMNE F HEE 2008 fNE 200

A2 |4003|35RIBUREY — EXEEHEEm _LIEENE 1 (V)EEHEEm LEEmE (1) 1008718 100
U AiEeEm DEEINE

A2 4002 |F5HIBUREY — EXETEHEEmE _LEEMNE 1 (2)£EHREm LS mE (1) 200BAINNE 200

A2 | 6269 FHRIBME Y — B ALBENE (DTrEELEIENE (1) FRIEEEAI#R0> 137/1000 HNE

A2 6270 |35MBUREY — ERULBEME T )MEmELENEME (1) FEEEEAI#2aD> 100/1000 HNE

A2 |6271 |35RIEME Y — E LB ENE T X NMEMEBLLENENE )rEMELEIENE (1) FRIEEEAI#R0D> 55/1000 MNE

A2 |6273|35MBSRE Y — EALEEME IV (HNMEHmELEENE (V) (3) THE UTZBAIE D 90% MNE

A2 | 6275 |FRIBUME Y — EALBENE V (S)MEMELEIENE (V) (3) THEE UTZEEAIE D 80% ME

1H(CDE

1RICDE




A6 EFEH—EX (E) H—EX0—RE (ATEL) TH30E108
-'j-_ = _I\' . s s ) v 2
@?EEE H— RSB EEIEE AR BEE
A6 1111 @FREUEY — 2 1 T BPEY-ERHE 1,647 | 1,647|18(CO=
) EEHRE - BERIE 1
A6 |1112|3@FrEYMBE Y —EX 1 BE| 54 Bifif S54|1HICDFEF
A6 (1121 [@FrEYHMEY—EX 2 3,377 Bif 3,377|1B(CD&E
EEHRE - EXIE
A6 |1122|3@EFrEYMBE Y —EX 2 BE| 111 Bifi7 111[1HICDE
A6 |1113|3EFFEYHBE Y — E X 1 [B13K + o * 3784 fif 378
- - HaENT OB (&, BRMCEMERUEF A 1E(COE
A6 |1123|3EFFEYHBE Y — E X 2 [B13X 389H4{if 389
I O VAP R4 B Y= =1 = | LA | i1 Rage L © | L] 'c S - I
A6 |8110|BAREYRE Y — 2 el Rt R e RIS 5% HE 18(co=
A6 |8111|BPFEUYREY —EXRILRMISEMEHE] |y Rthises (CRAET BBEADY — E iRt FREERAEID 5% MNE 1H(CD=
A6 |8112|BAREYRE Y — 2 L Rt A B FRESRATSD 5% HIE 1ECO=
A6 |6109 @B E Y — EXEFURAES ANNE 240 BANE 240
A6 | 6105 | BAREYRE Y — X F—RRYHE 1 D — SR R CT L I
A6 | 6106 |BATEYREH — 2 F— 24w 2 Y-ER (BB) 27555 BenE  BRE2 752 BARE|  -752
A6 | 5010|BAFEURE Y — B X ASEm L)L — TEMNE O EEiten E o)L — FEBNE 100 E3hIE 100
A6 |5002|BFIAYRE Y — @B aeiaEe HANE |/\ SEBVESARE EhNE 225 BfINE 225
A6 |5003|EFEYRE Y — 2 ek - pEuENE 150 BHihIE 150
A6 | 5004 |BAFEYRES — R CIREHESER)_EIES R O 150 BITHIE 150
A6 | 5006|BFREYREEE Y — R EHINE T 1 480 BTN 480
A6 | 5007 |BFFAURES SR — C R SHEANE T 2 ~ BRI _px | (1) EREY— XSRS (1) 480 B{IANE 480
A6 |5008|ERFERE Y — C X EMIME T 3 RIS 480 BITNNE 480
18(Co=
A6 | 5000 |BFFEYREI Y — E REHENNE T (2) SRIH— E 2 EHAE (1) 700 EATHIE 700
A6 | 5005 | BAREYRE Y — R BEEAR AN N EESEANE 120 Bh0E 120
A6 |6107 |{EFFEURE Y — B RIBEUABINE T 1 1 (1) U-ERRH |gupgs . mxiE1 72 BanE 72
BRI (1)
A6 | 6108|BAREYREI Y — B IBEUAHINIE T 1 2 « BENRE - EE) 144 BONE 144
A6 [6101 [ERTEMRE S — C RIBBHABINGE 1 2 1 (2) U-EXR gy . marim1 48 b0 48
F Y- BRI BRI (1)
A6 | 6102 |BAREYREI Y — B IBEUAHINIE T 2 2 O BEHRE - BEE) 96 BANE 9%
A6 |6103 |{EFFEURE S — B RIBEUABINE T 1 3) U-ERRH |gupgs . mwiE1 24 NS 24
ARSI (1)
A6 | 6104 | BAREYRE Y — © ABMASINIE T 2 I BENRE - BERE) 48 BANE 48
A6 |4002|EAEURE Y — B R EEMEE LENE L |} g s 200 EATHIE 200
A6 |4003|BAREYRE Y — R AsEHesem Dapenngg 2 [Po005 BB MR FEEEE L TO 388 100 EhIE 100
A6 |6201 |BFFEUMEH—EXREX T - TJME |X REXOVU-—ZIME (6 BIC 1 E%RE) 5 BEANE S5|1EI(CDE
Ry (1) NEBELBSENE (1)
A6 | 6100 |BAREYRE Y — BRI | At 59/1000 158
Ry ) NERELESENE (1)
A6 |6110|BAREYRE Y — U8RI T sy 43/1000 155
R P ——— (3) NEBELERENE (1) .
A6 |6111|BAREYRE Y — L8RS T L N ERENSNEE A s 23/1000 M 18(co=
B AR — I 2 R e @) NERELENENE (V)
A6 |6113|BAREYRE Y — LB ENIE IV e U sistn 90% 11
B AR — I 2 YR S (5) NERELENENE (V)
A6 |6115|EAREYRE Y — USRI v Y e Ui 80% 1
EEBADES
T_EX3-H R Y PR
e H— RS HEIEE AR | B
A6 |8001|EFEMREY—EX 1 - BB T BAEY-EX 1,647 | ERBBOBE 1,153|18(co=
B (aE) EEHRE - BEXIE 1
A6 |8002 |EFFrEMBEH—EX 1 BE| - T8 54 Efi x 70% 38(1HICDZEF
A6 |8011|EFEYRE Y — X 2 - B 3,377 4 2,364|18(1cO=
EEHRE - EXIE
A6 |8012|EFAYRE Y — 2 2 B3l - =R 111 B 78|1ACO=
A6 [8003 EREMEY — E X 1 @ - 8 fﬁfﬁiﬁﬁf@ 378 Bif 265
- = 1El([CDE
A6 |8013 EFFAYRE S — B R 2 Bl - 18 iﬁzﬁgﬁﬁfféﬁ 389 Hifi 272
B - NEBENRBOES
F—EXI—H R Mﬁ e | e e
e H— R RSIEH EEIEE AR | B
A6 9001 [EFEUREH— 1 - AX T BAEY-EX 1,647 gy | EE - TTERMENRE 1,153|18(co=
B (0E) EEHRE - BEXIE 1 BE
A6 |9002 EFFEHBEH—EX 1 BE| - AR 54 Efi7 x 70% 38(1HICDZEF
A6 |0011|BAIEMREY— R 2 - AR 3,377 4 2,364|18(1cO=
EEHRE - EXIE
A6 |0012|EFFEYRE Y — B2 2 B8l - A% 111 i 78l1ACO=
A6 |9003 EFERE Y — B R 1 B8 - AR fﬁfﬁiﬂfﬁfé 378 Bify 265
- = 1E(CDE
A6 |9013 EFFEYRE Y — B R 265 - AR iﬁzﬁgﬁﬁfféﬁ 389 Bifi 272




